[image: image1.png]Exercises @col Hiaclcew:mtnc

p Calculating adjustments.
Determine the necessary end-of-June adjustments for Anderson Company.

1. On June 1. 2013, Anderson Company, a new firm, paid $5.400 rent in advance for a six-month
period. The $5,400 was debited to the Prepaid Rent account.

2. On June 1, 2013, the firm bought supplies for $7,450. The $7,450 was debited to the Supplies
account. An inventory of supplies at the end of June showed that items costing $3,050 were on
hand.

3. On June 1, 2013, the firm bought equipment costing $60.000. The equipment has an expected
useful Tife of 10 years and no salvage value. The firm will use the straight-line method of
depreciation.

p Calculating adjustments.
For each of the following situations, determine the necessary adjustments.
1. A firm purchased a two-year insurance policy for $6,000 on July 1, 2013. The $6,000 was

debiled to the Prepaid Insurance account. What adjustment should be made to record expired
insurance on the firm’s July 31, 2013, worksheet?



[image: image2.png]On December 1, 2013, a firm signed a contract with a local radio station for advertising that
will extend over a one-year period. The firm paid $15,000 in advance and debited the amount
10 Prepaid Advertising. What adjustment should be made to record expired advertising on the
firm’s December 31, 2013, worksheet?
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January 31, 2013, the general ledger of Herron Company showed the following account bal-
. Prepare the worksheet through the Adjusted Trial Balance section. Assume that every
t has the normal debit or credit balance. The worksheet covers théfmonth of January.

ACCOUNTS

Cash 62,000
Accounts Receivable 21,500
Supplies 8,000
Prepaid Insurance 7,200
Equipment 90,500
Accum. Depr—Equip. 0
Accounts Payable 15,700
Alfred Herron, Capital 80,950
Fees Income 112,000
Depreciation Exp.—Equip. 0
Insurance Expense 0
Rent Expense 9,600
Salaries Expense 8,850
Supplies Expense 0

ional information:

' Supplies used during January totaled $5,200.
Expired insurance totaled $1,800.
Depreciation expense for the month was $1,575.

cting net income.

¢ that a firm reports net income of $80,000 prior to making adjusting entries for the fol-
2 items: expired rent, $6,000; depreciation expense, $7,200; and supplies used, $2,600.
ume that the required adjusting entries have not been made. What effect do these errors have
reported net income?

nalizing and posting adjustments.

Company must make three adjusting entries on December 31, 2013.

Supplies used, $10,000; (supplies totaling $16,000 were purchased on December 1, 2013, and
iehited to the Supplies account).

‘Espired insurance, $7,200 on December 1, 2013; the firm paid $43.200 for six months’
“=surance coverage in advance and debited Prepaid Insurance for this amount.

Depreciation expense for equipment, $4,800.
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Problem 5.18 P Completing the workshest.

Dbjectives 1, 2, 3 The trial balance of Dumas Company as of January 31, 2013, after the company completed the first
em el month of operations, is shown in the partial worksheet below.
INSTRUCTIONS

1. Record the trial balance in the Trial Balance section of the worksheet.

2. Complete the worksheet by making the following adjustments: supplies on hand at the end of
the month, $6,400; expired insurance, $10,000; depreciation expense for the period, $2,200.

Analyze: How does the insurance adjustment affect Prepaid Insurance?

Dumas Company
: s Worksheet (Partial)

Month Ended January 31,2013

ACCOUNT NAME CREDIT | DEBIT T GREDIT i

1 Cash ” o 10400 0|oo i | |

2 Accounts Receivable A 20{8 00 00 |

3 Supplies : T 38(4 00 00 it i

4 Prepaid Insurance G 60 0?0 000 =

s Equipment 7 . 108{0 0000 || | 1
6 Accumulated Depreciation—Equipment - |

7. Accounts Payable il 24,8 0 0|00 ‘

g John Dumas, Capital ey 252100 0|00 |
"o John Dumas, Drawing = 5 | 14140000 , z;
10 Fees Income i 103 |
11| Depreciation Expenseffﬁfg@g’r{tﬂri L | ‘

12 Insurance Expense | i i
1a Salaries Expense ¢ 31/2.0 0|00 | |
14| Supplies Expense ; | { f;

15 Utllities Expense | 3210000 ol
1o Totals s B __ 380/0/0 000 38000000

1N 4 o I il
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3 the first month of operations, is shown below.

~Rojas Estate Planning and Investments
Worksheet (Partial)

Rojas owns Rojas Estate Planning and Investments. The trial balance of the firm for June 30,

<«  Problem 5.4B

Month Ended June 30, 2013

Objectives
1,2,3,4,5

TRIALBALANCE || ADJUSTMENTS
' feeLne DEBIT CREDIT DEBIT CGREDIT
5 19]7/0/0]00 :
z 6/1.00]00
3 716 .00[00
. 14|40 0/00
Qi Ren: T - 36loj00j00 | o
- 4800.0/00
A
3 10(800j00 ik
s 60(1 00|00 4
T ; 4 : Al .
73180000
7|6]0 0loo
1]3/0 0]00
14470 0/00 144]700Jo0
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The Effect of Adjustments

Assume you are the accountant for Thompson Industries. Robert Thompson, the owner of the com-
pany, is in a hutry to receive the financial statements for the ycar ended December 31, 2013, and
asks you how soon they will be ready. You tell him you have just completed the trial balance and are
geling ready to prepare the adjusting entries. Mr. Thompson tells you not to waste time preparing
adjusting entries but to complete the worksheet without them and prepare the financial statements
based on the data in the trial balance. According to him, the adjusting entries will not make that
much difference. The trial balance shows the following account balances:

Prepaid Rent $ 42,000
Supplies 18,000
Building 420,000
Accumulated Depreciation—Building 33,600

If the income statement were prepared using trial balance amounts, the net income would be
$165.,500.

A review of the company’s records reveals the following information:
1. Rent of $42.000 was paid on July 1, 2013, for |2 months.

2. Purchases of supplies during the year totaled $18,000. An inventory of supplies taken at year-
end showed supplies on hand of $3.500.

3. The building was purchased three years ago and has an estimated life of 25 years.
4. No adjustments have been made to any of the accounts during the year.

Write a memo to Mr. Thompson explaining the effect on the financial statements of omitting the
adjustments. Indicate the change to net income that results from the adjusting entries.
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Frepare an income statement, statement of owner’s equity, and balance sheet. No additional
“svestments were made by the owner during the month.

Journalize and post the adjusting entries. Use 3 for the journal page number. Use the account
sumbers provided in Problem 5.4A.

~month adjustments must account for the following:

‘The supplies were purchased on June 1, 2013; inventory of supplies on June 30, 2013, showed
2 value of $3,000.

The prepaid advertising contract was signed on June 1, 2013, and covers a four-month period.
Seat of $3,000 expired during the month.

Depreciation is computed using the straight-line method. The equipment has an estimated
“wseful life of fxl/e years with no salvage value.

: Why are the costs that reduce the value of equipment not directly posted to the asset
1 Equipment?
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